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SECTION A

QUESTION 1

The South African legal system, unlike Roman iaw, 1s not codified Explain the meaning
of this statement (2)

South African courts consist of lower and supertor courts List the vanous officers that
are found in the superior courts (4)

Describe the specific method of acquisition of ownership of the property in each of the
following instances

0 Macks buys a piece of land from his uncle, Percy, in order to build a house for his

family (1)

() Sibusiso goes to the veld to hunt rabbits which belong to no one He catches three
of the rabbits (1)

(m)  Mary has bought a car for her brother, Khathu, and intends to give i to him on his
40 birthday (1)

(v)  Fifty years ago, Musa occupied a piece of land adjacent to his house which he
fenced In accidentally and subsequently cultivated (1)

Personal nghts arise from obligations Name the three sources which may give rise to
obligations between legal subjects {3)

Mmachaka engages a professional seafood caterer to provide seafood for her 50"
birthday party. She invites 30 guests, who all confirm that they will attend her birthday
party However, the day before the party, 15 of the guests inform Mmachaka that they
will no longer attend the party because they prefer to attend a street party at the same
time and on the same day in Sandton, Johannesburg, a walking distance from her
upmarket house

Advise Mmachaka whether she can take any legal action against the 15 guests who

falled to attend the birthday party for breach of contract (5)
(f) Name two factors influencing a person’s capacity to act (2)
[20]
QUESTION 2

Contracts are usually conducted through the process of offer and acceptance Briefly set
out the six requirements for a valid offer (6)

Musa and Chaka telephonically arrange to meet at Mzolisto’'s Restaurant At the
restaurant Musa offers to buy Chaka’s car for R150 000 which Chaka accepts without
any reservation A week later, Chaka calls Musa to tell hm how wonderful it 1s to do
business with him The delivery of the car and the payment of the purchase price take
place at Morebene Shopping Centre, two days after the call

(1) When and where was the contract concluded between Musa and Chaka?

(3)




(1} Is 1t possible for Musa to
(¢}  Masego takes her fnends Juliet

CLA1501

May/June 2017

withdraw his letter of acceptance?

(@)

and Inis to a restaurant When Masego wants to pay, she

discovers that she does not have her purse with her Juliet agrees to pay the bill, but she
suspects that Masego will not eray her Juliet therefore asks Ins if she will bind herself
as surety for Masego’s debt Ins agrees by nodding her head

Is the agreement between Julet and Ins valid?

QUESTION 3

(4)
[15]

Match column B with column A For example: (a) — 3.1. Answer questions (a) — (e).

COLUMN A

COLUMN B

{a) Ratio decidend:

3.1 The capacity or competence to
acquire and to bear nghts and duties

{b) Tacit emancipation

3.2 A publc sale where the price Is
neither set nor arnved at by negotiation,
but 1s discovered through the process of
competition and open bidding

(c) Legal capacity

3.3 The underlying reason for a court’s
rufing

(d) Auction 3.4 Any nght that a legal subject has
regarding a specific legal object and
which s protected by law

(e) Right 3.5 This occurs where the guardian

allows the minor to lead an economically
separate and independent life The
gJardian’s consent may be given
expressly or tacitly

3.6 A remark in passing that was
unnecessary for the decision of the case
and s, therefore, not binding In
subsequent court cases

()

SECTION A: TOTAL [40]
TURN THE PAGE FOR SECTION B
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SECTION B
QUESTION 1
Which ONE of the following South African courts is a lower court?
1 the Labour Court
2 the Constitutional Court
3 the Magistrate’s Court
4 the Land Clams Court (2)
QUESTION 2

Which ONE of the following statements regarding the application of the doctrine of stare decisis
IS INCORRECT?

A High Court, irrespective of whether 1t 1s a full bench or not, is bound by the decisions
of the Supreme Court of Appeal

2 One High Court 1s not bound to follow the decisions of a High Court in another area of
junsdiction,

3 Within the area of junsdiction of one High Court, a full bench is bound by an earher
decision of the full bench of the same Court

4 If there are conflicting judgments of different High Courts, a magistrate’s court can follow
any decision it deems to be correct (2)

QUESTION 3

Which ONE of the following statements is INCORRECT?

B WN =

The law of family 1s concerned with the relationship between family members

The law of family 1s concerned with the relationship between parents and children
The law of personality 1s concerned with a person’s right to his or her reputation

The law of personality 1s concerned with a person’s nght to privacy (2)
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QUESTION 4

Alfred makes a will in terms of which he leaves his house to his son, Michael Michael may not
sell the house as long as his mother Martha, 1s alive, since the will provides that Martha s
entitled to occupy the house until her death In terms of the will Martha has a limited nght to
enjoy and use the property

Which ONE of the following imited nghts does Martha have in this instance?

1 a praedial servitude

2 possession

3 a usufruct

4 occupation (2)
QUESTION 5

Which ONE of the following statements regarding the estate of a deceased person is
CORRECT?

A deceased estate consists of all the assets and habilities belonging to the deceased

2 The debts of the deceased pelrson are binding on the estate and the executor personally

3 The executor, together with the deceased person, can sue and be sued with regard to
matters of the estate

4 Where the deceased ieft a valid will, the estate passes according to the rules of intestate
succession (2)

QUESTION 6

Which ONE of the following statements 1s CORRECT?

1 A reasonable mistake about a material fact in the contents of a contract does not always
render the contract void

2 Despite mistake about the contents of a contract, consensus will still exist between the
parties

3 A contract cannot be valid in the absence of consensus

Mistake about the motive or reason for concluding a contract affects the vahdity of the
contract (2)




CLA1501
May/June 2017

QUESTION 7
Kwena and Richard negotiated the sale of a house Kwena represented to Richard that the
house had a sound foundation and that there was no danger of the walis starting to crack They

both signed the contract and two days later, after a heavy thunderstorm, three walls cracked as
a result of the house having been built on clay

Which ONE of the following statements 1s CORRECT?

1 Richard does not have any remedies agamnst Kwena since he signed the contract of sale
2 The contract between Kwena and Richard 1s voidable on grounds of misrepresentation
3 The agreement between Kwena and Richard 1s void on grounds of misrepresentation
4 No contract came into existence because the parties did not reach consensus  (2)
QUESTION 8

Which ONE of the following persons has imited capacity to perform junstic acts?

1 a man who has been declared a prodigal by the court

2 an unmarned aduit who has been drinking heavily

3 a divorced woman who 1s seventeen years old

4 a minor under the age of seven years (2)
QUESTION 9

Consider the following persons

a fourteen-year old boy
a seven year old girl

a six-year old boy

a eighteen year old girl

m o O @ >

a Junstic person

Which of the above persons have NO capacity to perform juristic acts?

1 only Aand B
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2 A,BandC
3 only Band D
4 only C and E 2)
QUESTION 10

Jane, a sixteen year old woman, marries Dan, a seventeen year old man, on 30 January 2016
They both attain majority as a resu!t of having concluded this valid marnage Jane discovers
that Dan 1s an alcoholic and has withdrawn all the savings from their joint account to buy liquor
She files for divorce in the High Court in Johannesburg On 15 September 2016 the High Court
issues a decree of divorce

Which ONE of the following statements 1s CORRECT?

AW N =

After the divorce both partes revert to being minors

After the divorce both parties remain majors

After the divorce only Dan will remam a major

None of the above (2)

QUESTION 11

Which ONE of the options provided below will complete the following sentence CORRECTLY?

Contracts in restraint of trade are

in principle invalid and ungnforceable, because a person's freedom to compete In the
employment market 1s restrained and 1t is therefore contrary to public policy

In principle valid but unenf?rceable, because parties may conclude an agreement to this
effect but a court will give precedence to public interest over contractual commitment if
these interests are n conflict

in prnncipie vahd and enfarceable, because the law permits the restraint of a person's
freedom to trade If the parties freely conclude an agreement to this effect

In principle invalid but eqforceable, because the law does not want to unnecessarly
restrain a person’s freedom to trade (2)

e
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QUESTION 12

Which ONE of the following donations has to be in writing and signed by the donor?

Aaron gives his 18-year-old niece, Mary, a BMW car for her birthday

2 John gives his wife Betty, to whom he I1s marnied out of community of property, a brand-
new car

3 Kamo undertakes to give his friend Lebo, a new BMW car in six months’ time

4 Tshidt gives her mother a gift voucher to the vaiue of R 3 000 {2)

QUESTION 13

Under certamn circumstances an electronic signature can legally fulfil the same function as a
traditional handwritten signature

Which ONE of the following statements regarding the form of an electronic signature Is
INCORRECT?

An electronic signature can be a typed name at the end of a document
2  An electronic signature can be a scanned handwritten signature

3 An electronic signature can be the use of complex identification technology if it1s intended
to act as a signature

4  An electronic signature can be a handwntten signature at the end of a document (2)

QUESTION 14

Donald undertakes to buy James a new car one month after Samson’s death has occurred

Which ONE of the following statements 1s CORRECT?

1 The moment for performance cannot be determined since it 1s uncertain when Samson
will die.
2 A contractual relationship between Donald and James anses and neither of them may

rescind the contract

3 This i1s an example of a resolutive time clause since the contractual obligation only has
effect until the occurrence of a certain event
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4 This 1s an example of a suspensive condition since the contractual obligations are
suspended until the condition 1s fulfilled (2)

QUESTION 15

Matome wants to purchase a stand|from Tapiwa They agree that Matome will purchase the
stand if the beach is visible from the stand Tapiwa 1s not sure whether the beach 1s visible from
the stand

What is such a contractual term called?

1 a warranty

2 a condition

3 a modus

4 a supposition (2)
QUESTION 16

Mampuru and Makhado conclude] a contract of sale in terms of which Plot 200 1s sold to
Makhado for R800 000 Mampuru's secretary types the agreement the following day and
erroneously indicates the price as R80 000 Mampuru and Makhado sign the agreement without
checking it

Which ONE of the following statements 1s CORRECT?

1 Because the agreement 's In writing, the parol evidence rule will exclude evidence
regarding an oral agreement concluded prior to the written agreement

2 Because oral contracts of sale for the alienation of land are not valid, the parties will be
bound to the price of R80 000

3 The wntten contract 1s voud because of mistake Ewvidence of the oral contract will be

admissible in terms of the general principles involved in the interpretation of contracts.

4 The written contract may bEe rectiied The parol evidence rule will not exclude evidence
of the parties' true intention, where the written contract does not reflect this (2)
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QUESTION 17

Thult and Sally conclude a contract in terms of which Thull will do the interior decorating of
Sally’s holiday flat The contract price of R25 000 includes the work and materals Before Thulr
can start with the project, the flat is completely destroyed by fire as a result of Sally's negligence

Which ONE of the following statements 1s CORRECT?

1 Thuh cannot claim anything from Sally, since the contract has been terminated
Thul can claim the full contract sum of R25 000 from Sally as damages

Thuh can claim R25 000 from Sally, less the amount she has saved by not having to
perform

4 Thul can claim only in respect of expenses she has already incurred (2)

QUESTION 18

Which ONE of the following statements 1s CORRECT?

1 An agreement in terms of which a creditor and debtor agree that the former will discharge
the latter from his or her contractual obligations 1s called release

2 Release I1s often accompanied by an intention to donate on the part of the debtor

3 A mere offer of release by the creditor to the debtor 1s sufficient to constitute release
An offer of release can only be done orally or in wnting (2)

QUESTION 19

Tshepo wins a gift voucher from Shine Car Fixtures In terms of the voucher, she 1s entitled to
a free carwash Since she does not own a car, she cedes her right to the carwash to her friend
Mpho

Which ONE of the following statements is CORRECT?

1 An agreement between Tshepo and Shine Car Fixtures in terms of which a new
obhgation is created between Shine Car Fixtures and Mpho, I1s a cession of nghts

2 An agreement between Tshepo and Mpho in terms of which Mpho becomes entitled to
performance by Shine Car Fixtures, 1s a cession of rights

3 An agreement between Shine Car Fixtures and Mpho in terms of which a new obligation
Is created between Shine Car Fixtures and Mpho, 1s a cession of nghts.
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4 An agreement between Tsheplo and Mpho in terms of which a new obhgation 1s created
between Shine Car Fixtures and Mpho, Is a cession of rights (2)
QUESTION 20

An obligation can be terminated by

prevention of performance

supervening impossibility of performance
supervening impossibility of performance where the debtor 1s In mora

(2)

A W N =

tnitial impossibility of performlance

SECTION B: TOTAL [40]
TOTAL: [80]

©
UNISA 2017




UNIVERSITY OF SOQUTH AFRICA
EXAMINATION MARK READING SHEET

lIJNISA

[ -

undveraty
of south afrca

UNIVERSITEIT VAN SUID-AFRIKA
EKSAMEN-MERKLEESBLAD

AL v "‘{J.‘"" R B ‘ S B e L ._-i’»""ﬁ‘aﬂ ""'3"”' P il ‘ ey "'“ =% g-z:,#u#:“:ﬁ
i) __EA"R‘T =1E (GENERAL[AeLQEMEEN !_r"l‘g% b3 "‘;@’I’g&?ﬁlgﬁ}é’:ﬁf'” g%@ 35";‘-21 jg ﬁ.ﬂ,#ﬁ, ,.= ; N
Ll L e A, BT A ST e e e e _,gﬁ‘» ﬁ_"n wvt
- STUDY,UNIT g“PSY'IOO‘K,HV?;),_ﬁ mrrmbs ey SUHNAME*@* e i_a*f* B n:-gﬁ':y é_«—};‘ﬁ% ,,r! ”‘M N
— %}:w"’igimume EENHEID by rswm-xiggw‘n_gggummgrnts'iu VAN r: » vl e I AT w-:ij -: ‘l_“
e By Ay e E) fradamh s g ¥
- ﬁﬂ?ﬁ% l ;’oms OF mmumuum}mglﬁ’;’gf ¥ a\‘_‘:fv 113&"" iﬁw’é‘% et e quégu"? L_,,
oy i = _‘mr DATUM van E“.f;'“mzsm*’;g* A W "i%'.}hi? s n;...‘:"::; :::‘ j(?,.m«uu.,m% i “fnj‘,ﬁzﬁ X AR
PAP:R Numntn_a ro o B R IASR L e 4 g S a5 3*{ w2

EXAMINATION CENTRE (E G PRETOHIA); b}

"'f@.m i | G 3[:55;;?:‘4 *11 O S R b T Do T ) Treng
§§§—s;§gvmssr&mommm _ ;ﬁ“"'i“"ﬂ?‘,ﬁff"}ﬂ” (ﬁs‘_u PRETORIA);_» - iRt S ad] NHL“%‘ e i Rt 5
E‘;,‘ P e .w.i CETRES s .,,séf. RS _.:;gg:»-v:uv = *méﬁg g*ﬁj'f i-:,'?_*miﬁr’:;?i%i e
- &,xm ?‘.E:,;:‘s—';USENT‘NUMBER@ & i | ] U MOUE PAPER NG *%E*‘ 5:—' _,;‘:éi;g;’%fj %d.;:;tgf.: ‘4'% E-i’;i:?” ‘ﬁm “%?f‘) ‘“ @;?;ﬁg u.ﬂu.?&ﬁé 'TI%EF‘E%‘
— g@gﬁ; L STUDENTENOMMER Tt & %;._ﬂt FEUNIERE VRAFSTEL KR ;;'Ti?:rgié‘*’m’k“ L B WA e @&%miﬁgﬁ
+ 2 o il iR
i 1 byt ey r&‘&ﬂt!i“ "?
i) ek PR S Ghire
t02 €03 ¢01 I 12 €01 ¢fr £Q2 03 €02 €01 91 €031 01 ‘: G x.ﬁ[ﬁ%g’%‘g
(1113 64 f1s 011 c4a o3 o1 a|ERe13 010 11 613 €17 €10 *gi,;;;‘ =l For use by examination invigilator w:’é&:r-"’f’“@
e - o e
r21c23c23c21¢21 023 €23 0323 = £21 21 ¢22 1 ¢ c2a- i i Ceehawm it 3
e | =y ot i B
£32 €32 ¢ 132 30 <3P o s 32 B FE A Vir gebrutk deur eksamenopsiener [FEEERGEEEEs
41 cd3 cdr cd1 41 g 3%& td3 c41 cda1 rd1 u.:,:}_zi‘_& fi! o&% :}_‘;‘&;ﬁ
£51 £53 (53 1 €53 51 52 _.’1; £53 tH1 ¢ t51 £5] %%g.:,g .%Wﬂi%@‘%%
[F1 €6 thI cfI €I CH3 ¢H1 LRI 5 cf3 cB1 £6) (B f2 I {F—, iy ?@%’éj ér..'f.ﬁ
7173 ¢y L7 LTI T LT £73c71 7 'r?: 73 r]‘:@ o ﬁ;_- ..:sf »ﬁ
tBac83cgr ey rga gy gy cfa ;%c £§o g cfa I:S! g1 ) é;;:i)s‘i Hﬂ@* ?h ﬁju,""“” ‘;},H& TR iﬂ"yﬁ. S = ..ﬁ%’?;a%ﬁ_ﬁ:h
£33 c93 ¢ 050 c83 c§r !’%‘ t$1 91 G 191 9 cH %EP:{}” B A AT ,‘m_"““l*" -m' gﬁ; i{?i"i ’n;% =3 ‘;'“5‘5“;3?1@‘
3 SR s ; At e
el T e Gk T e e _—M-M-*:“'—?—”l"tqﬁnﬂ;’—»—ﬁgq;_ﬂ}—-e«.rv-\a.s_z‘«bnﬁieﬁ:ﬂn Wn;"'? mm--nm z_i‘ﬁ-r SRS
IMPORTANT BELANGRIK
1 USE ONLY AN HB PENCIL TQ COMPLETE THIS SHEET 1 GESRUIK S5LEGS N HEB POILQOD OM HIERDIE BLAD T& VOLTQQ!
2. MARK LIKE THIS = 2 MERK AS VOLG =i
3 CHECK THAT YOUH INTTIALS AND SURNAME MAS BEEN FILLED IN CORRECTLY 3 KONTROLEER DAT U VOORLETVERS EN VAN REG INGEVUL 1S
4 ENTER YOQUR STUDENT NUMBER FROM LEFT TQO RIGHT 4 VUL U STUDENTENOMMER VAN LINKS NA REGS IN
5 CHECK THAT YOUR STUDENT NUMBGER HAS BEEN FILLED IN CORRECTLY 5 KONTROLEER DAT U DIE KORRFKTE STUDENTENOMMER VERSTREK HET
6 CHECK THAT THE UNIQUE NUMBER HAS BEEN FILLED IN:CDRRECTLY & KONTROLEER DAT DIE UNIEKE NOMMER BEG INGEVUL IS
7 CHECK THAT ONLY ONE ANSWER PER QUESTION HAS BEEN MARKED 7 MAAK SEKER DAT NET EEN ALTERNATIEF PER YRAAG GEMERK IS
8 DO NOT FOLD 8 MOINIE YOU NIE
e Y e e ,,--7;;-:«-; 3 .mnm‘.* *"'N INAE T,
maEARf'fzr(ANSWERS;ANTwoonDE)oDEELirz... ER i R
il é__{ﬁ l*)ui@v‘f- o By Seees, Sl —m!g Fhadianans R bl F %mﬁ A A R e e k@ik.ﬁ ,_5 r&‘“ﬁ’h}ﬂ }w‘ﬂ'ﬂ—«ﬁ‘é‘i"g‘*_‘:;
) *% 1 €13 c21 32 cda :51 2 36 E‘]'IZI 13 td1 -,;-;f-})"';‘ n t]1cy (31 cd: 51 ;{__';_:ﬁ:;, 06  t13 21 ¢31 41 B2
3 e en E?i O ;5@";"?’ L et ) B SRt
e 1152 t11 023 t31 c43 ch2
4 circ2a ¢33 cd1 oha ‘A. J,é % r1:: 121 £33 rdr cha b ‘:{ﬁgt;i‘ 4 r131 €23 c3y cdr 53 1123 c31c43cha
5 €13 027 £31 £d1 51 5""%% 40 131 ¢21 ¢33 rd1 53 ;%‘”{;i; 7 1102303381053 :p@ 3 €12 c21 ¢31 cd2 61
it i)
H# £
6 r13c2> 33 rda c6aff wﬁﬂ-% 41 c13¢21 £33 c43 €52 }" "g‘ti 76 1121 ¢33 41 tha £11¢?3 31 t41 €5 'f""'
7 £12 £22 32 cda c5a ¥ ‘ﬁ’ﬁ 42 S E] 723031 cd1 152 %ﬁ% TH o ot1a2c23 37 g3 i5alnls I3 1230311042 52
3 11121131 cd1 5] 5% 3 515% 43 r11' 2131 cdr 5 *%;Fsiiw 78 rf1e23 30 41 K ci1 2331043 chy
q €13 £21 £31 c41 thaly 1 44 t'|:: €21 031 cd1cha ‘-'_i“l; g‘ 79 £}1 021 ¢33y c41eh €13 02131 043 cH
10 013025031042 cha b“ 45 €13e21¢31 41 B @&_}T 8t £11 123033 415y 11231131 14153
e 5 R !
M i3 02 c3a cha o5 [ERARL 46 017 023 033 c43 (53 "*mgl"iq 81 ti11r2a 3 4y rha|BE £11 €21 £33 41 €51
iy ) pifiae
12 €33 021 £33 €41 5 furmipay 47 r1llt2) 31 41 cha :ﬁé‘f}fﬂ a2 r11c23c3r tdy 5y 121 3143 cha
13 {3 ¢21 131 cd3 ;) i,?ﬁﬁ 48 :1{ €21 131 c43 c5a m—" 83 t11 233141 ¢ £11c21 £33 143 £53
14 13521031 cda rsz?:___:::w 43 [H £231 031 c4a 25y ;l 84 rii1rlac 1 1 t{1c21 33 c43cHh
15 iy eda 3y cda B ‘L‘;f:j;'.?s. 5 c1ar2ae33 4y 5 i B8 ctacla 11 -2y 30 rda
16 t13 023 ¢33 td1 (52 :'“;Jé;éé 81 :‘Il: €21 131 41 cHa ﬁ?" 3022 1153 ! £13¢21 c3x td41 cH
17 £12rc21c31 042 tha { iy i 52 r1I: tZ’tS: g 4 £21c31 41 €K A7 122 3302y c32 041 €5
18 €11 021 c32 cda h ﬁ%ﬁ 53 :1:1(2 3 €13 23 231 t43 r5o 2 123 1323 t3x 41 B3
19 tfarc21 13141 5 i“;;:?’w 54 3 ] r]1r €21 232 c41 52 124 i3 c23 31 10da cBo
0 1162131 ¢d1 tHh ;ng,-@_,. IJ 121 W 90 13123 c33 t41cHa 12%  ria3c2rc3r 4y c52
2 ci1 123 e33R o5 T 1 €32 zd1 cHha LM, N t11re22 £33 ¢4 h ;.._ 126 1323 31 cd1chs
2 €f1 6213 £13 €23 €33 td1 cBy rﬁ.’f"{é 82 r13 23 ¢33 ¢d41 152 127 132331 €43 ¢cha
23 rirr2iace3rcdacx . % 58 r1'1 €23 131 cd1 52 F}..:;-m-ﬁ x| 1162263 43 452 B d!‘ﬁ:- 128 riac2r:3reds B2
“ 1r2redac 1 i 53 132y e cdd (5 B ‘% M a2y 34 TR ;,;_}ern_:} 129 r£iac21 311043052
25 £13r123133 43151 :{’; B0 316237131 cdacka i :‘i’{a 9 £]1 621033 143151 ifgég% 130 ciac23 03304182
i B e "
s oA £ EF
26 £3102) £33 cda e5315% ;__'5 61 11121331 £41c5a Er‘?:?ﬁ‘e 96 r11c023¢631 43653 %’W 131 ©11:£2) £33 043 h.
i £13r2x £31 eda cha ‘;‘t_g&:‘ﬁ 62 (1‘1 123 c31 cd1 Ko ’b?;g 57 1122303y 43 1§ i"ﬁ?‘ﬁ 132 3¢ el 41 chy
23 €313 ¢21 £31 tda c52 ,;.}% B 63 t1‘: £21 £33 c41 53 A Wc’& 98 t11 02131 4351 %—wﬁr’ﬁ 133 €12 023 32042 53
2% cfrc2ac31 cda ;},;:;5’,'% 64 t1r €23 c31 41§ fgg,‘-’;—‘g 99  ircd1cdr g iha 2 3 #Tn 13 cl1c2i13 g h:
3 1362231 043 51 ‘IW‘E‘% 65 (‘le £21 31 td1 ¢S ;.,“ "L‘i’ 100 «cf31¢23 33 cd1 52 '%‘; 133 €13 c23 131 4o c52
AL Bathes, BERH,
3 1021 e3a o1 15 éﬁ?" | 86 11629 131 cd3 5 p'F = 101 {31213 4352 55-:“4 3 136 1221030 cdacha
32 11121 ¢33 cd) 5 ﬂ%:hgg 67 11231131 c43 £5) Ja:&r%né‘g 102 tfa1rc23 ¢33 td2 183 E!g: wEE 1T e13 62 £33 41 15
33 11021133 c43 51 Fﬁgh‘ 58 r11¢21c3. cd3 B3 'é‘s‘ffj#' 163 11023 033 td1 € é?%; 138 clac21c31cd1 ks
34 cir¢2r 33 tda ¢ :?g“:i:; 69  c11c21 033 rdr 52 *‘%l;,, 104 c13£23¢c33 4153 -’;f:-é_r““_:: 139 3222 €30 ¢4y o5{Fs
35 13733 £43 5 ‘: ;«:i: 0 T3 02133 41 o5 e 3’4.?53: 105 c13 €23 ¢33 4353 fiﬁg‘ L 44D €12 023 £33 43 o531,
- nimmwbm.zh.mulc?"‘& 'vﬂﬂa-._’%&‘a— el umm:nﬂ&&,msa—tatawswLﬁauumrﬂu# &E‘:-ﬁrimmﬂ;wr BN =

|
|
b



MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 1s marked by computer and should therefore be filled 1n theroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DO NOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the 1Mustration of a mark reading sheet on the reverse of this page and follow the instructions step by
step when working on your sheet

Instruction numbers 1) to D refer to spaces on your mark readmg sheet which you should fill in as
follows

0 Write your paper code in these eight squares, for instance

P{S|{Y|1][O0fO]|- X

®

The paper number pertamms only to first-level courses consisting of two papers

WRITE | O | 1 | forthe firstpaperand } O | 2 | for the second If only one paper, then leave blank

Fill in your tmitials and surname
Fill in the date of the examination

Fill in the name of the examination centre

Q000

WRITE the digits of your student number HORIZONTALLY (from left to ight) Begin by filling in the

first digut of your student number in the first square on the left, then fill in the other digits, each one m a
separate square

In each vertical column mark the digit that corresponds to the digit in your student number as follows
-
WRITE your unique paper number HORIZONTALLY

NB Your unique paper number appears at the top of your examination paper and consists only of digits
(e g 403326)

@ In each vertical column mark the digit that corresponds to the digit number m your unique paper

@

number as follows [-]

10 Question numbers | to 140 indicate corresponding question numbers in your exarmination paper The

five spaces with digits | to 5 next to each question number indicate an alternative answer to each
question  The spaces of which the number correspond to the answer you have chosen for each question
and should be marked as follows [-]

‘ For official use by the invigilator Do not fill in any information here



